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What number should go in the shaded
box in the grid multiplication table?

16 60
8) | 6 106
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What number should go in the shaded
box in the grid multiplication table?

120 304
m 12 34

Created using

Mathster

X 600 20 8

4

What number should go in the shaded
box in the grid multiplication table?

604 240
8) | 2400 24000

This quiz was created on www.diagnosticquestions.com.

Correct Answer: ABCD

Explanation:

Correct Answer: ABCD
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Correct Answer: ABCD

Explanation:
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What number should go in the shaded
box in the grid multiplication table?

80 800
m 60 24
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What number should go in the shaded
box in the grid multiplication table?

90 80
m 800 900
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What number should go in the shaded
box in the grid multiplication table?

560 540
5)] 87 56
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What number should go in the shaded
box in the grid multiplication table?

78 420
m 56 54
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Correct Answer: ABCD

Explanation:
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What number should go in the shaded
box in the grid multiplication table?

3600 360
5)] 130 1300
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What number should go in the shaded
box in the grid multiplication table?

50 60
8) | 500 5000
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What number should go in the shaded
box in the grid multiplication table?

700 800
5)] 7000 8000
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What number should go in the shaded
box in the grid multiplication table?

2700 270,000

8)] 270 27,000
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Correct Answer: ABCD

Explanation:
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What number should go in the shaded
box in the grid multiplication table?

40
8) 400

50

40.0

Correct Answer: ABCD
Explanation:
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